i
T

I

1. ¥4
kG4 B0 T ARG RER R 0 2 E5
BT AT SIS U 6] T 2R T 20 ~ 3 IR N T T i BT i ot

2. EHEAR

1) FHEI4

2) JEATHIM

R SEE T sk

183 H H &% 74 8H29H
E S 8% 2H2TH

3) PN

4) EBNE

=R oS KN o723 S



¥EBL | AT EEGRIINEERAEE D 2 ¥ ER HEER
H H i JH
TEHA - LfE - R =AY VA # & Mo N AR
i FH T =X 15, 935, 020
A7) = = 9, 329, 040
A0 ) 130 = 9,329, 040 | VEXE
1 eSS
T E AR 2 EREKYE (CFEHh
) 80 N
SEE) A E R © 295m
T E AR 2 1B5
80 ]
R & = 6, 605, 980
VR = 67,660 | TEZEZHE
1 e
) R = 6, 538, 320 | TRl &
32 TR
TR0 R &
52 R
ST = 265, 450
SIS ] = 265, 450
e =X 265,450 | ¥T&H
1 =
B =X 233,612
[ERS 3 =X 233,612
i AL oy 79,612 | &A@t (i E - miAE)
1 K
TR 2 154, 000 | i -f-pl i (ERE

717

=R oS KN o723 S



EWA | B THEEGER)NREREZ O 2 ¥ ER BB
H H EERE
TEHA - LfE - R ==V # & A RN
1 =
[EXERIIFSE =X 16, 434, 082
M) = 11, 745, 918
R oy 11, 745, 918
W RS oy 28, 180, 000
Iim = 168, 870
il GREFED) = 168, 870
ZDfh 2V 33,450 | FJIHERFEERHITE SN0 OIS
1 =
2N BR Rl SR SV ERK: = 135,420 | ZABHRL B AL AERL
1 ESE
ERREM (ZOtFEMmER<) =X 168, 870
Z O FA =X 90, 936
— RS L = 130, 194
e S =X 390, 000
e S =X 28, 570, 000

=R oS KN o723 S



